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NoTe:— Answers may be wrilten either:in English or in
Hindi; but the same medium should be used
throughout the paper.
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Attempt all.questions.
All questions carry equal marks.
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1. (a) “Biological analogies '.expl’ain the phcnomenon of
business growth but do not qualify as theories of
business growth.” Discuss.
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Derive growth in demand and growth in supply

~ function of a firm. Show, with the help of these

2. (a)

(6)

functions, the minimum and maximum rate of

_growth of the firm.
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“Some people have claims {o ownership rights
while others enjoy those rights.” ‘Explain this
statement with reference to a modern capltallsuc
economic system.
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Define and explain an economic Vs{ystem. ‘How'
does the entire social system change?
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3. (a)

(b))

4. (a)

I 9994

“All cconomic systéms— from competitive capita-
lism to socialism— are based on the markel

- mechanism.” Justlfy
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“The problem of capital formation is the problem
of economic development and  vice-versa.’
Explam How does a developmg economy solve
these problems?
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How does Arthur Lewis show that excess

population is a blessing for economic develop-

ment? Is continuous development possible by his
prescription?
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Explain the concepts of technical progress and
technical inefﬁciency How can the benefit of
technical progress reach soc;ety‘?
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Or (gan)

“Intra-sectoral linkages and inter-sectoral -
linkages provide a sound basis for planning for
industrialization.” What are the limitations of
such an approach? '
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Show how the real and monetary parts of an
economy are balanced. What happéns if this
balance is disturbed? ST
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“Reduction in the rate of interest provides the

inducement o invest but the supply of capital
goods limits the growth of capital stock.” Explain.
How is the optimal capital stock reached?
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